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QUESTION 1

Scenario: A Citrix Architect is designing a XenApp and XenDesktop environment within a single Site. The IT team is
planning to use XenServer 7.x and needs guidance on sizing the resource pools for Virtual Delivery Agent (VDA)
machines. 

Click the Exhibit button to view the requirements for the environment. 

Which minimum number of resource pools should the architect recommend to meet the requirements in the Exhibit? 

A. 12 

B. 8 

C. 16 

D. 14 

E. 10 

Correct Answer: B 

 

QUESTION 2

Scenario: A Citrix Architect is performing a XenApp and XenDesktop design. During a discussion with the server
hardware team, two potential network configurations are proposed for the XenServer hosts. 

Click the Exhibit button to view the network configurations. 
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Which statement will support a decision to use Network Configuration 2? 

A. It will ensure that virtual machine workloads do NOT interfere with each other. 

B. It will provide greater security for all traffic types. 

C. It will achieve a higher level of redundancy for the different traffic types. 

D. It will reserve more bandwidth for virtual machine traffic. 

Correct Answer: C 

 

QUESTION 3

Scenario: A Citrix Architect designed an environment where policies will be deployed using Workspace Environment
Management (WEM). The architect decided to install two WEM Infrastructure Services servers in order to meet the
expected load in the environment. 

What should the architect do to ensure that both servers can be utilized in the environment? 

A. Configure two virtual (VIPs) on a NetScaler appliance: one for the primary server, and one for the backup server. 

B. Configure a load-balancing virtual IP (VIP) on a NetScaler appliance so that both servers can be actively receiving
communications. 

C. Enter both server names in the Agent Host Configuration; the first server listed will be contracted first; the second
server will be in a standby capacity until needed. 

D. Enter both server names in the Agent Host Configurations so that both servers will be actively contacted. 

Correct Answer: B 

 

QUESTION 4

1Y0-402 VCE Dumps | 1Y0-402 Practice Test | 1Y0-402 Study Guide                                3 / 5

https://www.geekcert.com/1y0-402.html
https://www.geekcert.com/1y0-402.html
https://www.geekcert.com/1y0-402.html


https://www.geekcert.com/1y0-402.html
2024 Latest geekcert 1Y0-402 PDF and VCE dumps Download

Scenario: A Citrix Architect needs to design a new XenApp and XenDesktop environment. 

The architect has determined the applications and characteristics listed in the Exhibit during the application 

assessment. 

Click the Exhibit button to view the list of applications and characteristics. 

To which application category does Application1 belong, based on the information provided in the Exhibit? 

A. Management Apps 

B. Common Apps 

C. User Apps 

D. Departmental Apps 

Correct Answer: D 

 

QUESTION 5

Scenario: A Citrix Architect needs to create a conceptual architecture for a XenApp and XenDesktop environment, on
behalf of a retail chain. Based on some initial discussions around the organization\\'s business goals and objectives, the
architect has collected the information as shown in the Exhibit. 

Click the Exhibit button to view the information. 

Which delivery model should the architect recommend? 
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A. Multi-Site, single on-premises datacenter 

B. Single-Site, single-zone, single on-premises datacenter 

C. Single-Site in Citrix Cloud, single public cloud resource location 

D. Multi-Site, multiple public cloud resource locations 

E. Single-Site in Citrix Cloud, single on-premises resource location 

Correct Answer: E 
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